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numerical cbnstants in C language'

,rlr,8rl",rh an illustrative example' t10l

4.ConstructtheLRParsingtableJorthefo1lowinggrammar:
E.-+E' + T lT
T-+T*FlF
F + (E)/id OR

5 a) write a yAcc program that will tut .itgt'tor expression as input and product -t 

::.
' rorithm f,or computing LRtk) item sets'

b) Wrtte an atg



6 a) Write an SDT to convert infix to postlix erpressiotr'
" ii s^pirr" brieflv about poivmorpnit tu':f[n'' , 
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l.Explainr,ariousStoraseallocatiolrStrategieswithitsmeritsanddeirrerits'

S.Discussvarioustechniquesoffunctionpreservingtransformations
oPtirnizatron 

OR: 
are set up and solvecl for irnproving code'g. ' Explain how data flow eqr-lations

10. Explain the foliorving peephole optimization techniques:

a; iiirnination of Redundant Code

, bi Elimination, Qf Unreachabie Code 
OO

ll.Explainirrdetailaboutmachinedependentcodeoptirnizationtechniques
drawbacks.


